ER TS R R2 [ Avzss ]
BFR &G | Rroh| MG | Brok |hoF] astReobs i & R1 R2
SAl 14 8 11i1 15 0 23 14 8 1 | 15
LFI 2(i 6 2{i 12 0 18 2(i 6 20 | 12
PYS 443 4 3fi 10 0 14 3fi 5 3 | 10
UIART 3fi 5 443 8 0 13 4431 4 4431 8
ARB 7131 1 61 4 45 9.5 513t 3 5131 6
o5 5{i 3 5{i 6 0 9 6l 2 6{il 4
D 8fil 1 7{i 3 0 4 7{i 1 71 3
AV S 61iI 2 8fiI 2 |-15 2.5 8fil 1 81l 2
0 ofil 1 ofil 1
0 106 | 1 106 | 1
0 1161 | 1 116 | 1
0 126 | 1 126 | 1
0 136 | 1 136 | 1
0 144 | 1 144 | 1
0 156 | 1 156 | 1
0 166 | 1 166 | 1
ISAIBBIM. - 1GIDAHRE
9SA5BLUTF .- 26 FTHRE
9SATRBUTF - - SFTRE
9SR9BLUTF .- -4 FTRE 7= 0.4 |18
ISR BLATF - - SHIFETRE Fl 0.4 |18
952128 L -BIFETRE? PYS 0.4 |18
RREE 55Kgll LMD S %] 0.4 |48
BEEh— b 80 LIt 4.5 < 0.4 |18
v—pEIC 75 Kk 3
#HoHD 70 LIk 15
LTHEE 651k 70%ki®@lE +-0
AR 65 ki -1.5
60 ki -3




FP(CRS{fEROK) Q1(55&HA) Q2(445&tA)
IEfz| #a1 =% TIME Efii| %A1 =% TIME |7 IEf) %Al =#| TIME
1 PYS 17 22.133 1 1
2 LFI 12| 22.203 2 0.4 2
3 | TR |16 22.271 3 0.4 3
4 HE | 13] 22412 4 4
S SAI |14 22.522 5 S5 | 78 [ 18] 23.001
6 | o5 | 18] 23.173 6 6 %E |16]23.031
7 ARB [ 15] 23.391 7 ARB | 15| 22.846
8 [ 7/Vvb (11 23.699 8 PYS 117 22.851 [04 Q3(345tHiM)
IEfii| =@ =& TIME
1 (TR [18]22.618
2 SAl 13 22.772
3 | &o5 |16]22.772
4 LFI 11) 23.011
RACE.1 RACE.2
B ®BA1 [=%] K = IEG &5 (=8 FA =
1 SAl 18 10 - 1 SAl 16 | 15 -
) LFI 3 0 2.310 2 LFI 18 | 19 5.802
3 [ A7 1141 10 3.155 3 PYS 13 15 6.192
PYS 0 5.095 4 | 72 RA7 | 11 19 7.773
5 =5 2 0 5.166 [ 5 &o5 [15[ 15 11.137
6 | 77N Y 0 17.353 | 6 | 171 15 16.414
7 A 6 0 19.378 Y e ] 15 17.838
8 | & 1 0 21.429 8 | 7NV 12 15 17.930

NIT

0.4
0.4

NIT

0.4

0.4
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